y 4 MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P”’ Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racing Screerrs www.puig.tv www.puigusa.com

CARENABRIS NAKED NEWAGENERATION PARA - WINDSHIELD NAKED NEW GENERATION FOR
WINDSCHUTZSCHEIBE NAKED NEW GENERATIONFUR

SUZUKI GSX-S125817%

Ref.: 9873

X © ALLEN

Ne 3
N°e 4

(] -
.
. Media-
1 persona ificil-
’Ipperson 25 min B0
ID PIEZA/PART| DESCRIPCION DESCRIPTION QTY  REF
1 Clpula Screen 1 9873A/F/H/N/R/WM3
2 Soporte metalico derecho (R) Right metal support (R) 1 SOPOR-2P-5-9873
3 Soporte metalico izquierdo (L) Left metal support (L) 1 SOPOR-2P-5-9873
4 @@2@ Tornillo M6x16 @14 ISO 7380 M6x16 @14 1SO 7380 screw 2 TORNI-17380-403
5 @ Arandela de goma @4,5 x @14 x 4mm @4,5 x 314 x 4mm Rubber washer 6 ARAND-GD13D5X4-
6 Tuerca de clip M6 (negra) M6 clip nut (black) 2 TUERCA-TRT-M6--
7 (9758 Tornillo Allen M5x16 @11 1SO 7380 M5x16 @11 1SO 7380 Allen screw 6 TORNI-17380-493
8 @ Arandela de nylon M5x1 M5x1 nylon washer 4 ARNV00000000245
9 @ Tapdn tornillo M5 1SO 7380 M5 ISO 7380 screw cap 4 TAPON-------- 85

Created by: www.ciandisseny.com



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

y 4
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racing Screers

CARENABRIS NAKE

INSTRUCCIONES

www.puig.tv www.puigusa.com

D'INEW:GENERATION PARA - WINDSHIELD NAKED NEW GENERATION FOR
WINDSCHUTZSCHEIBE NAKED NEW. GENERATION FUR

SUZUKI GSX-S125817

DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

_Q DESMONTAJE LADO DERECHO
RIGHT SIDE DISASSEMBLY

1 MONTAJE LADO DERECHO 2
RIGHT SIDE ASSEMBLY @

Created by: www.ciandisseny.com



) ot /- 4

Racing Screers

MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

CARENABRIS NAKED NEWAGENERATION PARA - WINDSHIELD NAKED NEW GENERATION FOR
WINDSCHUTZSCHEIBE NAKED NEW GENERATIONIFUR

2587

SUZUKI GSX-S1

Pg. 3/3

Created by: www.ciandisseny.com



